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INDIAN STATISTICAL INSTITUTE

COMPUTER'S CERTIFICATE EXAMINATION, 1032,

Pant IA : Secriov 1. .
Full Marks—100 . Timo—3 hours
N.B, (a) Anawors to tho difforont groups aro to bo given in ecparato books,
{b) Attompt two questions from cnch group.
{c) All questions carry oqual marks.
(d) Uso of caleulating machincs ia not pormitted.
(o) All computation work must be shown in tho answor books.

Grour A, -
1. (i) Cuinplote tho entrics in respect of tho columns (3) to (5) of the following
tablo, and find tho totala for cach of tho col Tho caleulations aro noeded correct

up to ono pluco of docimal only.

Col.(1) Col.(2) Col.(3) Col.(4) Col (5)

Ed y z? . y? Iy
2.5 1.7
3.9 1.9
1.8 4.3
1.9 2.6.
2.3 2.2
3.9 2.9
1.6 2.0

Total

-(ii) Find alsy (Sz)3, (Sy)? and (Sz)(Ty),- whore Xz and Sy denoto tho totals for
pol. (1) and col. (2) respectivoly. . 3 .

"2, Tho prico indox numbera of 10 commodities for January, 1951 and Fobruary,
051 are given in the tablo below. It waa roquired to show the percentago riso or fal)
in tho indox number for February compared to that in Janunry. A computer has
wdo tho calculations as indicated in the table. Copy the tablo in finnl form correct-

ng tho errors, if any. Tho caleulations aro required corroct up to one placo of decimal.®

Prico indox numbers ', Percentago .

Commodity January '51 Fobruary 51  Increnso Docreaso
Col. (1) Col. (2) Col. (3) iCoI. ) Col. (3)

A 120 100 — 20 -
B 100 120 20 —
o} 116 100 ™
D 123 130 — 23
E 2 - 108 -_— .8
F 06 100 4 —_
[¢] 110 100 — 10
" 100 - 115 13 —_
1 120 110 —_ 10
J 100 96 —_ 4
Combined 110 110 ¢ [




3. The following family budgeta have boen collacted from 10 familics. Exhibi
the particulary in a auitablo tabulur forn clussifying them into oxpondituro groups
of ‘Re. 1—Rs. 100%, ‘Rs. 101—250" and 'Ra, 231 & abave'.. From tho information
furnished on tho sizo of the fumily, find also the per capita oxponditure on food in
respect of all tho familics. (Caleulations aro required correct up to ono place of decimal).

Sizo of
\umily
Itom ’

{Monthly erpenditure in Is.)

L
-
]
-
®
(-]
«
-
@
o

Lood 25 54 80 100 160 " 140 38 175 155 80
Clothing 2 4 8 12 13 22 3 28 13 12
Fuel & Light 4 5 7 9 0 12 [ 18 8 8
Housing 2 3 4 5 9 2 3 26 8 5
Miscelluncous [ 15 33 67 80 103 10 120 64 45
Totul : 39 81

132 183 2713 301 60 365 2.[50 130

Or

(i) Add up all integers from 1 to 100,
(i) Find tho averago of tho following numbery :—
69, 71,73, 75,77, 79, 81 )

(Tho addition of tho numbers, if required in this calculation, nced not he
shown). s e

{iii) Two ¢qual sums of moncy aro placed before you. If from ono of tho sums,
.you take out Re. 1. 2 as. 4 p,, and placo this amount in the other sum, what should
bo tlio difference now !

{iv) How mony times is 0.05 contuined in 16.5?

(v) By how much is z greater than y?

Grour B.

1. Sixobscrvers A, B, C, D, E & F had noted down on a cortain dato tho longths
of 10 paddy-shoots from cach of four fields 1, 2, 3 & 4. Tho lengths were again mee.
sured on the sune plants afier a period of two weekn. Tho observors were than asked
to supply the averngo growth, in inchey, of poaddy-shoot during the ponod. in’ cach
of the four ficlds. Tho results -were received aa follows : —

{Note : Al utunds for observor A and fiold 1, similucly A2, A3 eto.)

s 2 A2 : 2.7 1.9 2.5
5.1 €2 : 8.5 Dl : 1.0 2.7
: 2.1 E2 : 2.8 F1 : 2.1 2.8
2.5 Ad 2 2] B3 : 2.2 0.2
: 6.0 Ci : 5.8 D3 : 2.3 1 2.2
: 2.4 E4 : 2.2 F3 : 2.3 F4 : 2.0

Copy out tho data in a suitablo form; scrutinizo tho duta marking out any figurca that
you consider are wrong; oxplain how tho wrong figures eould have arison; givo your
‘corroctions.



2, For tho purpose of a certain health investigation,’ it is requinsl to obtnin
frequencies of atudents, between ages 8 and 13, who suffer from tonsils, clansified sccord.
ing to sex and econotnio status (i.e., rich, poor or middle.class).

Proparo & form into which you can transfor relsvant information from modical

inapection records kept at diffe hools and eollog:
. Preparoe also tho form in which the froquencies roquired undor the abovo
classifications ean bo finally presented.

3. In a nutrition onquiry, 5 states wero solected from tho wholo country; from
each of theso states all important villages woro solccted; and from cnch such villnge
12 familica chosen and information such aa protoin-, vitamin, fat-ote., content of food,
was collected on ono card for each individual in tho familics chosen. Cards totalling
10 61272 in numbor wore thus collected, .

Tho states, villages in oach stato, familics in each villago and msmbera in
cach family, having been given serial numbers, the cardn wero gorted and arranged
in serial ordor, with individual No. 1 in family No. 1 in village Na. | in state No. 1,
aa the fimt and with tho lust individual in fumily No. l" in the last villago in atate No.
5as tholnst in the ordor. -

Explain_the procedure you will adopt if, in all, you wero to find out :—

(1) tho averago number of individuals per family,

(2) the total number of villages polected and

(3) tho differency in protei tent of food b tho first and laat indi-
viduata, in each of tho five states.
" . The amount of sorting and counting of cards dono for this purposo should
be tho minimum required.

COMPUTER'S CERTIFICATE EXAMINATION, 1052,

- Part IA : SecrioN II. .
Full Marks ;1 100 Timo 3 hours
N.B, (a) Answers to the different groups aro to bo given in scparato books.
(b) All questions carry equal marks
() Uso of calculating machines is not permitted
{d) All computotion work must bo shown in the answer baoks.

Groupr A,
1. (a) Solvo the following :—

(546) T42r2 4247 = (5"—0),
(b) With the help of approprinto tablos, calculato Tz2 and Tx3 for odd integral
values of z from —451 to —441 ond 61 to 61, ——
(e) Find by Contractod Mothod the product of the following correct to throo
placea of docimals :—
41,345267134 x 11.7023456721



2., Tho following tablo showa tho frequoney distribution of lwighls of 300 Prince-
ton freahmon :—

_Hoight in inches ©  Froquoncy

61—¢2
62—03

Culeulato the nwean and standard doviation of tho diatribution.

Grovr B.
Attompt any two guestions

1. Tho following tables show tho valucs of u corresponding to the values of r

varying from 22 to 30, =
x u ’ x Lou
22 11748 27 +14188
a3 12342 . 28 — 14527
24 12881 20 — 14821
25 13367 ) 30 +15072 *
26 - 13802

Caleulato by the mothod of linear interpolution tho valucs of u correaponding
to tho valuca of

x=22.64; 23.28; 23.92; 24.56; 25.20; 25.84.

z=27.12; 20.04.

2. From tho formula
y=3.1r1-11.72-3.8

plot tho valuea of y corrosponding to tho integral ‘values of x varying between = —2
and 2=0. Draw o amooth curve thrpugh theso points on u graph paper.
Draw also tho straight ling
y=12.3~6.4z
and estimato tho arca lying botween tho curve and thoe atraight line.

4



3. (u) Represent gruphically the following dats :—
Cost of production per unit of production
(Ra.)

Year - Raw Labour Capital Ovorhoad Total
Material . Chargo .

1938 4.3 10.1 2.1 a.l 20.8
39 16.9 10.8 2.4 - 3.6 3.7
40 17.4 12.2 2.4 5.8 37.8

T4 19.8 13.0 3.8 3.5 4.5
42 24.8 13.8 3.4 6.0 . 50.0
43 3.8 16.8 3.8 8.0 66.0
44 44.1 18.8 3.8 . 8.2 72.4
13 43.0 19.4 3.8 8.4 .6
48 46.7 18.6 3.0 0.8 13.0

(b) Assuming that tho figurcs in tho above table refur to tho middlo of each
year i.0., 30th June, read from tho graph tho coat valurs undor diffcront heads for the
period 1ot January of oach year.

COMPUTER'S CERTIFICATE EXAMINATION, 152
Part IB : Secriox I.

N.B. (a) Anawers to tho different groups aro to bo given in acparato Looks,
(b) All questions carry equal marks. T
(¢) Use of calculating miachines ia permitted.
(J) Al computation work must bo shown in the answor seripts.

Grour A,

Attompt quostion 1 and any one from tho roat

T. A certain political party wants to atudy tho number of candidates set up,
the number and percent clected, and tho number and porcent of votes sccured by partios
and gtatos in tho last genoral oloction (House of Peoply and Stato Asicmbly).

Suggeat a auvitablo tubular form (with propor headings aend apacing) from
which all the ahove information can be readily obtained. You may group tho partics
as Congress, Loftists, other partice and Indepondents.

5



2. Tho frequency distribution of percentago fat content of milk, aa shown hy
8037 milking rocords, ia given bolow:—

Percentage Porcentago
fat content  Froquonoy fut coantent  Frequency

3.7 | 3 5.565 ¢ 983
3.05 , 41 5.75 ) 799
415 . 17 5.05 532
4.3 - 303 6.15 281
4.53 " 524 6.35 177
4.73° ¢ 832 6.55 80
4.05-7 1033 8.756 .
5.13 -y 1108 8.95-,. , 16
8.33.; 1137 7.15 /wte 3
s 7.35~7.65+1 3

/ c .

(a) Calculato mean, standard doviation (), 24 and @, (suitablo checks should
be usod in tho ealculation) :
(b) Represent the distribution in a suitablo disgram and locate on it the
porcontago of cascs lying betwoen mean o, mean +2¢ and menn +3g.
8. Marks obtained by 81 students in the previous and final examinations aro -
givon below, Find the corrolation co-efficient botween tho results of the two examina.

tions,

Provious): Final Provious Final + DProvious Final - Previous Final
- 240 220/ 160 14077 260 2607 . 160 140°°
200 y[1 180 - 230 240", 180 160 250 22
260 1 240° 300 200" 100 60 260 260
260_7 200 - 100 100 200 220 160 120
160 160°° 160 140~ 200 200" 260 240
240 3 220-). 200 160~ 160 120 230 180
220 © 200° 180 180~ 180 160 220 240
6052 12 180 160~ 20 220 260 200
220 13 240 250 924 200 200" 240 220
200 3% 180 200 200 230 820" 200 200,
220 ~ 72207 200 200 220 200 ,. 140 1207
14037 180 180 169 240 220 260 2407
160 120 260 230 10 60’ 200 1807
240 f5 200 - 180 12¢- 230 220 300 280 .
260 “ " 240~ 240 240 240 200 180 1407,
200 160 220 229" 200 220 220 1ywmm
200 1607 220 24 230 2. 180 1soj
240 240" 160 1207 a0 200 . 300 230
1240 220° 200  200-° - 240 200~ 230 22070
240 2 220~ 220 220~ 150 1407 220 200

200 180




Grour B.
Attempt only one question

1. (s) An experinent was conducted to determino tho relation between the
moisture -content and tho heat of hydration of a mmixture, The results of the experi.
ment aro given below, Assuming that tho heat of hydration depends on tho moisture
content, calculato tha second degroo curvo which will show tho relation botween the two

N

1loat of hydration in ealorivs P.C. of moisturo
0.5- 16.3
1.6 1.0
3.2 : 11.6
1.2 10.8
8.9 8.5
7.8 1.0
9.1 5.8
10.9 ’ 4.9
12.8 4.2
16.0 - . 2.0

18.3 2.1

(b) An experiment wus conducted to test tho yiells of six varietivs of paddy
in four randomiscd blocka as given in the sketch below.  Tho reapectivo yield of each
varioty (in scern) is noted against ench in tho skotch. Do the differences in tho yiold
among tho six variotics signify anything ? Can you aay that the varioty A ia a heavior

yiclder than the vnrio!y-?] ? —
’ Block 1~ Block 2
A.33.0 F 20.! D 2.4 E. 22,2 D. 20.2 A 325
B. 35.8 C. 329 E. 21.4 B.34.0 C. 21.0 F 271.7
Block 3 Block 4
B. 3.2 F. 279 D.10.3 F. 3L.4 C. 42.0 A. 43.7

C. 40.1 E. 27.9 A, 33.7 D.24.8 DB, 44,7 E. 20.0

2. . Threo varictics of a porticular crop wero tried at a rescarch atation to test
tho yiold rate of cach. The layout of the exporiment is given below. Skoteh No, |
gives tho reapective yiclds in scera nnd skotch No. 2 givea the number of plants in cach
plot. Arrango the threo variotios according to their yiclding capaeity aftrer correeting
for tho difforences in the plunt numbors and thon test if varioty B is better than tho

varioty C.



Sketeh No. 1

A B L) C A
. 126.1 211 125.1 118.1 120.1
2

c A c B B .
119.1 123.1 121.1 123.1 119.1

(v} A A c
120.1 122.1 124.1 121.1 119.1
Sketeh No. 2

A B B o] A

41 I} 43 32 33
C A Cc B , B

32 37 33 40 35 .
B c A A [

a1 33 38 33 3

COMPUTER'S CERTIFICATE EXAMINATION, 1032,
Part IB : SectioN II.

N.B. (s) Answers to the different groups aro to be given in scparato books.
(b} All questions carry equal marks.
{c) Uso of calculating machines is permitted.
{d) All computation work’.must bo shown in answer scripta.

Grour A.
Attempt question 1 and eny onolfrom tho rest

1. The ﬁ;llowing duta‘in a froquency distribution of tho scores obtained by 149
students in an examination.

Scoro Fm&;ucncy
- 310.5—330.5 3
299,5~319.5 \ 3

.5—299.5 8
39.5—270.5 . 12
239.6—250.5 19
219.5—330.5 28
199.5—210.5 a3
170.6—190.5 18
139.0—179.5 14
139.5—150.5 o
119.5—139.5 13
00.5—110.5 - 3

(a) If it is known that tho scorvs arv norumllj distributed with mean 215.5
ond varianco 2500, obtain tho oxpected frequencics corresponding to the ahovo observed
frequencies and test for tho guodnces of ft,

]



(b) Draw tho histogram corrceponding to the above frequency distribution and
suporimpose on it tho fitted normal curvo.

2, Tho tablo given below displays tho observed froquoncica of marriago adjust-
ment acores ( classiflod aa (i) vory low, (ii) low & (iii) high ) for a number of husbands
according to the oducation reccived by thom [claasified as (i) post-graduate, (ii) colloge,
(iii) high school]. .

Treating tho duta as a ‘random samplo’ test whethor marrisge adjustmont
score is dependent on education of the husband.

Marringo
adjustmont Vory low Low High
Scoro
Education
Post-graduste -4 [ 33 v
College 20 31 55
Uigh school 23 a7 41

. v v
3. (a) Meking uwo of Fishor-Yatcs tables, find tho 5 por cont valuo of £ with n;
equal to 20 and n: oqual to 45. ~ \

(b) Evaluato :—

(2.35)0057+ (0. 257)2-33
(2.35)0331—(0.257)7'3

Grovr B.
Attompt any fuo questions

1. Collect following items of information relating to incidenco of firo in West
Bongal excluding Calcutta and Ilowrah for all the months of tho year 1040,

(i) Number of firve attended to,
(ii) Valuo of propertics involved,
{iii} Value of propertics damaged,
. (iv) Value of propertica salvaged.
Calculnto thoe proportion of valuea of proportics salvagod to tho total valuce
of propertics involved for cach month.

2. Collect the following items of information regarding education and publica-
tfon™ of booka in India for ten consccutiva yoars and colculato tho averago numbor
of scholars attending an institution for cach ycar.

(a) Number of educational inatitutions,
(b) Numbor of acholars attending thom,
(¢) Numbor of books published in Indian and othor langungos.
(d) Number of books published in Indian Inng
[




3. The following table shows the distribution of a number of articles turned in
per day to the loat and found burcau of a largo offico building fur a period of $23 days :—

No. of articlea Observed
per day Frequency
X Y
[] 160
1 134
2 74
3 32
4 - 11
3 2
6 [
7 1

Represent the obscerved und expected frequencies on & square papor, tho

= . . . Wiy X
expected frequencies being given by Y= e_; whero m is tho mean of the observed

distribution.

4. Tho following tablo gives tho groes earningy in millions of dollars of Bell
Telephone Companies in U.S, i—

Yenar  Earnings (Million dollurs)
X Y

521
564
623
678
761
845
017
1003

Calculute the expected varning figure taking as the graduating formula

Y = ub*
whers o = 5207
and v o= 1.1

Represent tho observed and oxpretod values on n graph paper.

COMPUTER'S CERTIFICATE EXAMINATION, 1952

Pant IC : Sectiox I
Full Marks : 100 Timo : 4 hours
N.B. () Answers to tho different groups are to bo given in separnte books.
(b) AN questions earry equnl marka.
{¢) Uso of calculuting muchines is pormitted,
(d) All computation work must be shown in tho answer-script.

10



Gnour A.
Attempt any (wo quostions
1. Calculate - ;
' y=¢*—2z8in 1;5

[:;r values of z from 0 te 1 with gaps of .1 and find graphically tho root of tho oquation

er—z28infZao

lying between 0 and 1.
3. For tho curve

Jz) = Lz - Peomzrmis .
rd)

Calculato the ordinates for z=0, 1, 2, 3,'4, 5, 6, 7, 8, 9 and draw a smooth curve.

3. In a ecl A of an inv t firm for ovory hundred rupees invosted an
.annual sum of Ra, 5/- is deducted as socvico charges, whilo tho remaining sum is
reinvosted at tho ond of tho yenr with tho samo rato of intorost boing 8 per eent per
annum. For evt;ry 1000/ inveosted find the amount duo in five years. Again, in a
schemo B, tho firm allows an interest of 5§ por cent per-annum, whilo no chargo is
mado for sorvicos, l-“ind tho.amount duo for Ry, I_OOOI- invested in achoms B aftor
3 yecars, B

- 4. Find tho 19} pointa of tho X2-distribution (ono sided) for dogroes of freodom
n=10, 15, 20, 24, 27, 30. If ay bo thoe 19, point of X2 with n d.f..

Culeulato Cx= W2an— /30 =1 ~
for tho given valuos of n and plot a graph with degroos of freadom as tho abissa and
Ca 88 the ordinate. Show thab theso points approach tho line y=¢, whoro ¢ is the
19, point of tho normal distribution (one s'ided) with unit varianco.

Grotr B. I
Attompt any two questions

1. For tho data of the following tablo fit a cubiec Y=aX3+bX2+4X+d. Cal-
culate tho expoctod valuos and oxhibit tho observod and oxpectod values on a graph
papor.

No. of commer- * No. of commor-

Year cinl failuros in | Yonr cinl failures in
(X) U.S. (thousands) * (X) U.S. (thousands)

e (Y) [04]
1010 12.6 . 1921 19.7
1011 13.4 1922 23.7
1012 15.5 1023 18,7
1013 16.0 104 20.6
1014 18.3 1925 21.2
1015 23,2 1026 21.8
1016 17.0 1027 - 23.1
1917 13.0 1028 £23.8
1918 10.0 1020 22.0
1019 6.5 1030 26.4
1020 8.9




2. The following tablo givos tho yicld figuros per acre (in asuitablo wnits) relating
to o crop yiold oxperiment involving 10 varicties (A. B.C. D. E. F. C. I, 1. J), 3
manures (X, Y, Z) and two types of soil (I, II). Complote tho approprinto analysis
of varianco table and mako suitablo comments.

Soiy Tyre I

Varictics
Manures A B’ C D E F a R I J

X 48 45+ 46 42 44 49 45 47 48 49
43 42 44 44 15 47 45 16 47 49
46 46 42 46 43 47 48 48 40 48

Sow. Tyre II

Variotics
Manures A B (o] D E F (¢] n I J
X 48 45 48 45 H“ 48 48 44 48 42

12 44 44 43 43 51 47 468 47 43
40 42 10 43 50 48 44 46 44 43

3. Tho following data relate to yicld of corn (x;), rainfall (x;) and tempernture
(z3) for a period of 20 years, Caleulato tho multiplo corrolationa Ry.23, and the partial

correlations rys.a and teat their significances, T
Sx - @

Yicld in Rainfall in Temporature
bushols inchos in degrees
30.5 12.1 73.3
32.3 12.0 74.6
34.9 9.3 73.8
30.1 7.1 76.2
36.0 11.0 73.2
26.8 6.9 71.8
30.5 9.5 78.9
33.3 16.5 . 09.9
29.7 0.3 75.3
35.0 0.4 12.8
29.9 8.7 76.2
35.2 9.5 70.0
38.3 11.8 2.9
35.2 12.1 76.9
35.6 8.0 75.0
36.7 10.7 74.8
26.8 13.9 72.8
3.0 1.3 75.3
31.7 11.8 74.1
32.8 10.4 71.0

—
»



COMPUTER'S CERTIFICATE EXAMINATION, 1082,

PagrT 1C : Secrion 11
Full Marks : 100 *  Time : ¢ houm
N.B. (a) Answors to tho different groups aro to be given in N\pnmlb hooka.
(b) All queations carry oqual marks,
(¢) Uso of caleuluting machines is pormitted.
{d) All computation work must be shown in the answer-script.

Qrour A,
Attempt any tiwo questions.

1. - Compilo from tho stutistical reports (to ho supplicd to you) informations on
any fivo of tho following, stating tho title and page of the roferonce from which you have
taken the figures :—

(a) Total acrcago under rico in West Bengal 1949-50 shown mparntely under
winter, autumn and summor crops.

{b) Tho total quantity of paper of all grades manufnctured in India during
the 12 months, April 1948 to Mnrch 1949,

(e) Averago number of persons omployed duily in the production of coal from
mines in India in 1949,

(d) Total valuo (in rupces) of India's e;porl.s to and imports from the Union
of South Africa in 1048-49.

(o) Total quantity and valuo of “Essential Oila" importod to India from
Switzorland in 1949-50.

(f) Total number of treatment institutions (hospitals, dispensaries ote.) in
Indian Union—tho number of beda availablo and tho number of indoor pationts treated
in the year 1048.49.

(g) Valuo of notes in circulation in tho month of Soptembor 1948-49.

{h) Totul values of choquo clearances for the month of April nnd May 1950-51
from all clearing houscs of India.

2, (a) Cnlculsto the value of the function F (x), nt z=0.0538, given the following

table ¢

z F(z)
0.62 0.6194114
0.03 0.6270163
0.64 0.6345857
0.85 ° 0.6420292
0.66 0.6493765
0.67 0.8566273
0.68 0.6637820

(b) The hour.angle of the Sun corrosponding to certain altitudos (a) and
declination (§) at a placo in a cortain latitudo ane given below. It is required to find
the value of the hour-anglo corrosponding to $=12° and a=16°,

v 18



\ a=10° a=14°. a=18° am22°
L) .

20°  @h 1Im 20 sh

15° 5 55 41 33 5
5
5
4

54 20w 278" A gm qge

3014039 4 54 17

10° 3 40 16 19 66 4 59 37 4 39 17
3° 8 24 50 4
0° 3 0 8 4

44 4 4 23 29
27 39 4 8 28

3. (a) Tho prices of a fow items for {ho yéars 1945 and 1946 and also tho per.
esntagos of the total expenditure in the middle-clnss families in Calcutta aro given here.
Caleulate by a nuitn_blo mothod tho cost of living index for 1946 with 1045 aa hose year.

% of tho Pricea in rupees
tota!

expendituro 1945 AT 1T
Rico 17.51 0.39
Whent 5.73 0.33
Chira & Muri 0.68 1.00
Pulsea 3.43 0.63
Fish 5.24 2.00
Meat 1.99 - 3.00
Egge 0.30 2.50
Milk 3.45 0,75
Butter & Ghee 1.60 6.50
Oil 5.10 1,13
Potators 3.80 0.75
Othor Vegotablea 6.26 0.31
Sugar & Gur 2.57 0.50
Toa & TifMin 4.83 8.63
Conl 4.29 1.38
Salt 0.52 0.19
Other Species 1.08 0.19

(b) Indox numibers of prices of a certain commodity from the years 1029-1933
aro given below :—

1920 1030 1031 1932 1033

Jan 08 76 81 70
Fob. 28 84 81 67
Mar. 88 70 75 67
Apr. 06 ™ 70 5
May 09 72 69 86
Jun, 19 88 66 67 86
Jul 121 00 04 . 70
Aug. 120 2 a7 79
Sep. 121 85 08 81
Oct. 103 72 70 70
Nov. 103 ™ 82 s

oc. 102, 73 86 60

Find out tho trond of pricos by fitting a suitablo ourve and show on a graph
tho obsorved values and tho fittod ocurve.

2



Cuove B.
Attempt any three questions

1. Evaluto tho deterninant

| W.5 834 203
Aa 23> 240 312
| 123 158 18,

Caleulate tho minor an'l rofuctor of cach elemont of & and vorify that if J»
. be tho value of the determinunt formud by the cofuctors of tho eloementa of A, then
D = Ad / : ~ .
2. Fit un appropriato Pcarsonian curvo to the following distribution of marls
of 100 studcnts in a test.
Mid-valuo I3 20 25 30 33 40 43
Frequency 8 12 18 20 32 8 2 R
’ 3. Ina feeding oipcrinwm. four rations Iy, Rz, Ry, B, besides tho control 25 wer
tried on 20 animals which wero put in four clusses Cy, C3, C3, €y, of five each accordin ;
to litter and initin! body weight. The fullowing tublo gives the gains in body weight
in gramnies in a certain period.
R,C, L RCy RiC; RCy RCy RCL R(C,
7.0 8.5 16.3 14.5 10.5 2.5 15.0
Ry RCs RCy RCs  RyCy R(Cs  BsC3; RyCy
14.0 18.0 9.3 10.5 13.5 10.5 8.5 3.5

RCy ICy R.Cs  R:Cy
8.0 13.5 7.5 21.0
Analyso tho oxperimental yields and interprot the results. Has locul control
proved effective ¢
- .
4. Tho following tablo gives tho percentugo succens of bolly for flowers from fvy
different strains A, B, C, D, E of cotton plants, shown in a Latin Square design.

A c B D E
3.0 0.3 441 0 3
B A c E D
2.5 428 403 350 430
D ., E A B c
S04t 350 2.8 34 45.8
*E B D c A
B4 4LL 4T3 a1 0.1
c D E A B
47.8 47.3 36.0 31.7 40.7

Anulyso tho duta and interpret tho resulis,
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INDIAN STATISTICAL INSTITUTE
STATISTICAL FIELD SURVEY EXAMINATION, 1952,

. Pant IA (TnEORETICAL)
Full mnrks : 100 Time : 3 houn
N.B. (a) Figures in the margin indicate full marks,
(b) Ncatness carries 4 marks,
(¢) Whenover you are asked to givo answer for your Native State or Stato of
Domicile, mention tho nameo of_lho State.

Attempt Queetion No. 2 and any other fwo from Group A und any four from Group B.

Gnrour A.

1. (a) Mention tho names of the Districts and Sub-divisions of ‘the State you
fivo in, mentioning the namo of tho Stato as woll,
(b) Nume fivo most important railiway junctions of the Stato with the names
of tho Sub-divisions in which they aro situated.
{¢) Give tho totul adult population of tho Stato and its ratio to the total popu-
Intion of tho State. . (13)
2, (a) Writo down tho actuul inter cluas furo from Jlowrah to Bnnl'vlum, a dis.
tance of 144 miles and also the third claas fure from Bandel to Ondal, a distance of
84 miles. Mention the difference, if any, in the furo Lotween Passengor and Express
traina for theso distances,
(b) Rs. 43/ aro to bu scnt by telegraph money order. 1Ia it possiblo to sond
it by Expreas Telegram ' If 80, mention tho basis of calculation of the postal charges.
{¢) Filled up records woighing 15 tolas aro to be scnt to tho officor from the
workors' camp, Moantion the postal charges when it is sent by (i) a registered parcel
kii) a registored book post. (18)
3. Montion tho nnmes of tho loculitica with as much Geographical dotail as you
con of :—
(a) any important mining arca in your Native Stato or State of Domicile.
(b) any important forest area in your Native Stato or State of Domicile.
{c) any three important Juto growing arcas in your Nativo Stato or State of
Domicile. (15)
4. (a) Namo threo mujor cropa of your Native Stato or Stato of Domicile and
tho sowing and harvosting scasons thercof.
(b) Givo tho acrcago of ono cereal andd one non-food crop in 1931.52 in your
Nativo Stato or State of Domicilo and state tho porcontugo incrouso as compared to
acroago of 1930-31. : )]

Grour B.

1. (a) How many motres make ono milo ?
(b) Expreaa 5.123 acres in local units of arca meusurements of your M(lw
Stnte or Stato of Domiclo.
{¢) A balo of juto woights 400 ths. Express tho weight in maunds and scers

18



9. Pind the value of any two of the following t—

67 x .67 % 61— .001 .87
@ FrxeT .00 F 0T e
+ =
. a
Hs. 6. 10as. 8 pa.

®) 6 of B Gea 4pe.

() g of 425 acres + 78,9 0.87 soros +:— of 16.57 sares, -

3. A fonco is running on all sides of & lecu;nguhr shaped oultivated land having

en area of 1 acre. Ita longth is throo timoe ite broadth. Find tho cost of the fonco

at the rato of 3 as. por yard. (12)

4. A roctangular plot of land has got & square tank surrounded by a paddy flold,

A sido of tho tank is 30 yards. Length and broadth of tho plot is 60 yards and 40 yards
respoctively. Calculate tho anna proportion of the paddy fleld to the total plot.

.. (12)

8. ADBCD is a squaro field whoso sides are 20 ft. long. (a) Jnto how many square

plots, having an area of 4 eq. fi. can you divide ABCD? (b) If you join AC and

BD and those two Jinos cut at E, what would bo tho area of AEB ani AEC, (12)

6. Tovestigators A, B, C have boon sont to visit the samo four familios each and

they havo brought the following infc i lating to i and oxpoaditure of

the faniilios in & yoar t—

| A B (V]
Family

Income Expen- Income Expon. Income Expon.
diture diture -~ dituro

1 215 400 203 340 313 423

2 310 510 450 415 500 520

3 103 201 125 155 118 233

4 165 255 185 165 215 173

(i) Find tho avorage of income and average of expendituro rocordod by the
threo inveatigators, for each family.
{ii) Find the avorage incomo and avorage expondituro por family making
uso of all the relovant duta.
(iii) What is the exccas or doficit of averago income por family over tho avorage
expendituro por family—using data of all tho thros investigators. - (12)

' . STATISTICAL FIELD SURVEY EXAMINATION, 1952,

Pakr 1-B (TuEORETICAL)
Full Marks : 100 Time : 3 hours
N.B. (a) Figures in the margin indicate full marks.
(b) Noatnoss carrios 6 marks.
{¢) Whonovor,you aro asked to give answor for your Native Stale or State of
Domicilo, montion the name of tho State.
17



Attempt any thres yuestions from’ group ‘Aand any &co from group B,
Grotr A

1. (a) Name all the States of the Indian Union.'’ )
(b) Supply information regarding tho following in respoct of your Native
State or Stato of Domicile. (Mention tho namo of this State).
(i) Names of all other States which touch and surround the State (&)
- (i) Most nnporlnnt. city, sea ports, if any, and the most important

riverd. R - I 1
(e) \\'lnch States of India have sos coust )
(d) Namo all sub-divisions in castorn or westorn Lorder of your Native State
or Stato of Domicile, mentioning tho namo of tho State. 3

2, (a) In ‘what respect do the folloumr' d:lTur from onu unother )—Lugbnge,

Railwuy Purcol and Ruilvay Goods 'lnnmc. Namio at leant 3 nruclu which cannot

bo taken a3 Iuggul,e' ) ")
(b) What are the important dlﬂ'cn.nccs Lotween “owner's risk™ and *Railway
risk” booking for senders of goods t W

(¢} If you uro required to deaputeh somo Government oflice furnitury from
one railway etation to unothor in your own State, in what circumstances would you
book thom by goods traftic or Ly purcel traffio? Givo rensona.

(d) Calculato the postal churges needed for sending tho following oxprea

. tolegram at 3 AML in the night after Saturday.
“}ari Charan Gunguli,
Village Rajpur,
P.0. Barabati,
: T. 0. Lulimipur (India),
Your brother investigator Haren Chundra Gunguli attacked with (.holuru

Come at onco.
Suresh,”

Mention word or words which can bo aufuly omitted to reduco cost.

3. (u) What aro the three mwost important districts in your Siato, gmwmg
(i) Amun (winter) paddy, (ii) Potate, (iii) Jute, (iv) Sugarcanv, (v} Tobacco, (6

(b) In respect of only ono of the ubove crops, mention :—

{i) the avernge yicld in mds. per ucre nnd an approximate value of the
lowest and tho higheat yield rate between which the yickl rates usually vory.

(i) Averugo scod roquirements in gcers per woro and an  approximate
rungo within which scod roquiremonts per ucro generally vary.

{iii) Perioda of sowing and harvesting.

{¢) Mention |ho towl yield in your Nutive State or Stato of Domu:llo of um
ono of tho crops noted in question 3 (n) during cach of tho threo provmlu years”wd
comment on the reavons for increuse or ducrcasv. ¢

4. (a) An investigator with nlpay of Rs, 130,- pius d.n, Rs. 43/- per month wa
on leavo on half puy for 8 duys with pormission 1o profix 2 holidays to this leavo une
on casual louve for 3 days in tho month of Fobruary 1052; culeulate the amount duo
him for the month. ' . ’ {t
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(b) Two sidea of o regular shapod roctangalar plot are 300 yds. and 100 yda.
respectivoly. If tho'plot is divided into 300 sq. plots, what.would be (.ho aroa of oach
square plot and tho length of.a side of. oach square plot ?. ol (6)

{0) A took a loan of Rs. 80/ from B on 17150 at 12}, por annum. Ho paid
Rs. 20/- on 1/7/50, Ra. 20/- on 1/1/5] and Ras. 20/. on 1/7/51. Ilow much was dua from
him to B on 1/1/52¢ ’ (8)

— - - s Grovr B, . Seo-

1. The following statoment gives an account of a scason’s work in a deld block,
showing tho number of days for which staff worked ote.

Stafl Days of Crop cutting Number of plota
attondancoe days haevested .
to bo paid

Investigator 1 73 —_ _
Inveatigntor | 70 13 20
65 . 20 o 35

3 B L] 12 27

4 08 15 24

Camp Clerk 1 3 - —_
Poon 1 75 —_ —_

Calculato the tatal expendituro incurrod in the senson for this field block undor
the following headsa:— . . . - ' .
(8) Pay of etaff:
(i) Inspector: DBasic poy, of Ra. 75/ por month plus a d.a. at 40% of
basio pay and Rs. 23/- as F. T. A,
(ii) Inveatigator: Basic pay of Rs. §0/- per month plus a da. ot 50%,
"of basio pay and Rs. 15/- a3 F. T. A, *
(iii) Camp clerk : Basie pny of Ra. 50/- per month plus a d.a. at 509
of basic pay and no F, T. A
(iv) Peon: A\ consolidated romuneration of Rs. 50/- per month,
(b) cont of ono labour to ench inveatigator engnaged on days of crop cutting
only at Rs. 2/4/- por working dny.
() Cash compenxation to owners of plots at annas twelve per ploz harvested.

{d) Dcspn!ch of ﬂolal records to tho head quarters by regiatered post on two
t in nta woighing 5} tolas and 20 tolas respoctivoly.
- . 2

8. - Scrutiniso the following portion of a schedulo rocoived from an investigator
and point out tho mistakes if any.--{Answer -should be written on the snswer book
and not. ‘on tho nohodulo) .
Enqmry into. thq Famiily budgot. IMO 50
[ “ Namo of tho mvoulxucor * Subhas Roy, Unit’ No. 14.° Dn!o “of " onqmryy
4/12/30 [
10



Block 1: Address end particulars of the sample.

Ward No.: 27. House No. 37, Strest—Pratapaditya Road.
Sample No.: Ef20. Head of Family: Late Panchanon Ghoth.
Roligion—Hindu, Community: Caste Hindu.

Family occupation—Zaminder.

Block 11 : Composition of the family.

Yearly income

Sr. Rolation " Box Age Civil  Standard Oceu-
No. to hoad. Condition of  pation from
oducation occupa-
- tion Total
1 Head M  Dead -_— —_— —_— —_ —
2 Son X 35 Married B, A. Service 2400/- 2400/
3 Son M 28 Unmarried - Matrio do.  1500/- 1500/
¢ WhoofSorial F 25 Married VI - - =
No. 2. :
5 Wife of Serial F 21 do. X —_ —_ —_
No. 3. . .
6 Son o; Sorial | M 12 Unmarried IV —_ —_ —_
No. 3.
{
(20)

7. In & rural enquiry, Sri Nidhiram Batabyal (aged 47) of village Ichapura, P, 8.
Sarajdigha of District Dacca, who posscsscs a total of 6.20 acres of land (of which
4.37 acres was cultivated undor paddy and 1.20 acres undor juto, in the year cnding
3lst May 1052, furnished the following informations.

Ho had in thia yoar a family consisting of two brother aged 26 and 18, his
wifo with two boys agod 14 and 8 and with three girls aged 17, 10 and 8, tho youngest
girl having died during tho year. Besides, ho had to support a widowed sistor of 23
with a son of 5. On further questioning, he revealed that he had married when he
was of ago 24 ond that his wifo had her first child born when she waa 18, Of his two
brothers, the oldor ono was married during the year to a girl of 17 and was the only
membor who made some contribution for the maintenance of tho family,

Queetioned as to whethor ho had to purchass paddy or rice in that year for
his houschold consumption, he aaid he purchased a total of 45 mds. of rice.to meet
his needs. Io had howover no livestock. He was reluctant to give any idea of his
annual incomo; but he admitted that hia sole i was from oultivation of his ows
land. .

Fill up the following schedule (Form IB), on the basis of above informations
recoived and criticise if some of the informations given by him scom to be unhk(o’%

20



Frox 1.B.

DIstrot. oo ceseoniinsonanenananaie Ntmool‘ﬂud....‘......:... .......
PeBroerrirniniriinnnans ceveeneens  Mouza (Village)...usiseninininiuiiiaaas
Bizoof Family.oovoeeieaalaannens Gross annua! incomo from

Total No. of carnors.....-ccvennaens Agriculture (Ra).onioiiiiaiiiininnna,

Nott annual income from

Agriculture (Ra)...ociiiveniiainaaaans

Serial No. of Rolation to Sox  Civil Status Economio  Agoin the year
Houschold Hoad Status onding 31/5/52
mombors

m @ (3) (4) %) (6)
(a) Living Meinbers

© ® N O A A W w0

e e
»n - O

(b) Members who died during the year ending 3lat May, 1952.

‘Lands (in noros) possessod in the year ending 31/5/42:—
T ) Totaliiieruiiinniannn.
(ii) ‘Gmwh\gpnddy..........

(iii) CrowingJute............
£l



STATISTICAL FIELD SUIWEY EXAMINATION, 1052,
. ParT 1. c (’rn:om:ﬂcu.)
Full Marks : 100 ‘ Timo : 3 hours

N.B. (a) Figures in tho margin indicate full marks,
(b) Noatncas carrios 4 marks,
(¢) Whonever you aro asked to give answer for your Nativo Stato or State
of Domicile, mention the namo of tho Stato.

A Attompt any four questions,

1. (a) Name tho five largest ocoans of the world and deseribo thoir boundarioa.

(b) Numo tho largest (i) mountain rango; (ii) river; (iii) island. Describe
their locations,

(o) What aro tho total population ol‘ your Stato and that of India, according
to the latest publishod census reports, undor tho following honds ? (i) males and
(ii) fomales; (i) urban and (ii) rural.

(d) Doseribo tho boundarica of Thailand, Franco and Afghanistan and name
the largest port in each, if any.

(e) What are the throe important communitics in your Nativo State or Stats
of Domicile ? (Name the Stato). \What are tho proportiona of thoir population to
the total of tho Stato according to the latest published data you know of ?

(f) Namo 4 countrics or 4 continents and state via which ports andfor mll\rayl
you can reach thom if you go by train andfor ship.

2. (a) What is tho total aroa of your State ?

(b) How much of it is availuble for cultivation?

{c) Namo two main non-food crops grown in your Native Slntc or State of
Domiocile (Mention tho namo of the Stato).

(d) Givo tho yicld rato (in mes. suors or pounds por acre) of tho two main non-
fooul crops grown in your Native Stato or Stato of Domicilo.

(o) Namo tho district in your Native Stato or Stato of Domivile with the
loweat annual rainfall.

{f) What are tho mozhods of lmgauon. nl' nny in tho (lunnc'. of your State
with tho lowest annual rainfall, -

(g) Namo tho important crop of your Stnto which require to bo irrigated largest
number of times and atato tho number of times it is irrigated in a year of normal rain-
fall, .

-+ (h) What is tho approximato .acreago of cultivablo waste in your State!

Montion sourco of information and tho year to which the figures rolato. <16
(i) Montion the principal causes for culturable waste lainds boing loft ux
oultivated, in your Stato. W

(j) Name the manure or manures used for Aman pnddy (mmor paddy) orop
what aro tho stages of oultivation whon theso manures are ‘used; what proportion ¢
total quantity is usod at each stago ? {t



8. (a) What is sharo.cropping ! \What are its usual torms and oonditivns in
your district t What ero tho principal crops which aro grown on share.cro)ping
basis ? - e e e (8)

(b) Aro there districts in your Stato whero immigrant labourors aro omjloyed
for agriculturo ? If so, stato tho names of districts and tho area from which the
immigrant labourers ordinarily ocomo. 8)

{c) What was the number of milk cows in your Stato, according to the latest
cattlo cenaus figures if any, known to you ? (Give tho fguro to tho nearest thou mnd).
Assuming that cach cow gives, on an averago, ono scer of milk per day and that cach
penion of your Stato requires half o soer per day, what would be the surplus or efleit
of milk in your State ?. (Show tho caleulations). . (8)

4. (a) Stute the averago daily rates of wayos for the following operatinus, as
wero prevalent in your district in the lust scoson. . .
(i) ploughing; (ii) ploughing with own plough aud enttle; (iii) hacveeting of
jute; (iv) washing of jute-fibre; (v) threshing Aman paddy (winter paddy). {5)
(b) VWhat are tho wources from which you can obtain tho fullowing *—

(i) Cuclastral survoy maps; (ii) list of plots with their total urcas, comprised
in & village; (iii) list of familics in a village, (8)e

(c) Preparv a list of probablo items of nun-fuod expeaditure which you can
expuct to find from an ordinury ngricultural family, Mark with a cros thos: items
whicli would not bu in the list if the family had not Leen an agricultural family.  (7)

(d) Givo u list of tho types of non-agricultural work in which rural Jab urers
cn got omployment in your State. Mention ngainst each itom, the months in which -
such work can genorally Lo had. (7

5. An investigator is camping in a village for work for about threo mon'hs,

(a) Tho Union Board is doemanding tax from him. '

{b)-A Govt. Taluildur has slapped him.

() A cultivator in whoso ficld ho carried out erop cutting work ent 'rs hia
cump and forcibly takes away tho crop cutting instruments.

Stato the authority or authoritics (if moro than ono) whom tho inve .igator
can approach for rodress und mentivn what type of redrexs cach such authori:y can
give. (24)

6. (a) Prepare an estimato of ficld cost of A family hundicraft production enquiry
by wamplo aurvey, the investigntor Iwing confiued to 100 samplo villages in t o dis-
tricts of your Stato and during a period of 13 days. 159, of familics engaged in handi.
cralt production aro to bo taken in cach village. Any assumption that you mako
regarding lours of work, rato of work cte,, in preparing an cstimuto of cost, should
bo mientioned. .

(b) What steps would you tuke Lo ensuro that (i) sampls units taken represont
all handicrafts; (ii) the work is Loing dono in minimum timw, (24)



STATISTICAL FIELD SURVEY EXAMINATION, 1952,

Part II-A (Tazonsticar) .
Full Marks : 100 Timo 1 3 houn
N.B. (a) Figurce in the margin indicate full marks.
(b) Neatnoss carrics 5 marlm.

Attompt Queation | and any thres of tho reat.

1. (a) An enquiry to ascortain the inter-relation botweon tho family aizo, income
and expendituro on food d is to be i d in Ballygunj—Ekdalia Place
arca on a total listed population of 2300 familics of which thoro are some Bongnlecs,
some Beheris and somo South Indian families, ™ It is decided to take & sample of 600
familics for survey. Suggest o suitablo mothod of stratification and a mothod of

" nllocating tho number of familics out of 600 to be choson to differont strata on the
basis of any assumed distribution of 2500 families into the throe categorics.

(b) Proparo & plan of field work and an catimate of cost of provalent ratos

of puy cte. for the work contomplated in {a). Any assumptions that you make in

catimating coat should bo stated. (33)

2. A wurvey is to bo conducted for dotermining tho coat of cultivation of jute
and it has bovn decided to collect data from a sample of informanta by tho mothod
of intorviow. Draw up a schedulo for the purposo with auitable rpacings and heading
(Square papers will be supplied). (20)

3. Discuss tho merits and donierita of & random sample survey aa compared to
complote enumoration.

Givo an sxample where complote enumeration is easentinl.  State your rensons
for considering completo enumeration to bo essential in this case. ™
CGive an ple whero ation is impractical, Stato you

for lering ph tion impracticnl in this case.’ (20)

4. () Writo down tho methods you would adopt for collecting accurate dats
regarding the following :— .

{i) ngo of individuul \} of an 4 d rural family.

(ii) acreago of a particulur crop in plota from an arca, of which tho eadastrul

" aurvey maps aro 23 years old and configuration of plots have changed in many casw

(iii) blackmarket prico of adult sizo nill-made cotton sarve in a part of a town.

(b) What chocks, if any, can you apply to ascertain tho degreo of accuracy

of the ficld work, if you wero to inapect tho ficld work in each of tho abovo casa ¥ (20)
5. Thae figurcs in columns 2 and 3 of the tablo bolow show tho index numben

of prices of certain commoditics in tho harvest year 1026 und 1031 with the samo base.
Tho ratio of index nuinbers of 1031 to thoso of 1020 oxpresscd os a porcoutogo ure gives
in eoluma 4. Find tho averago ratio of prices of all conunoditiva taken togother i
1931 to thoss in 19286,

(i) from tho arithmetic moan of tho porcentage in column (d).

(ii) from the ratio of arithmetic moans of Sgurcs in columns (2) and (8).
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| Index Number of prices in | Column 3

c ity x 100

T 1931 | Columm 2
(1) (2) (3) )

Wheat 157 79 30.3

Fat Cattlo 131 18 80.1

Milk 163 139 85.3

Eggs 14D 110 73.8

Fruit 105 132 80.0

Vegotablo 133 158 7.0

6. \i'buv. aro the sourcvs of orrors that may occur whilo colooting data in a crop
urce estimation survoy Namo five such sources and indicate what should be the
duty of an investigator to vaoid such orrore. (20)

STATISTICAL FIELD SURVEY EXAMINATION, 1952,
ParRT 11.B (THEORETICAL) .
Full marks : 100 Tinw : 3 hours
N.B. (a) All quostions carry oqual marks.
(b) Nontness currivs 5 marka,

Attempt any five quostions,

1. Discuss to what extent tho roports of settloment operationsa of the districta
in a State are uscful in proparing a schomo for A multipurposs survoy of that State

3, Writo a note on the aystem now goncrally followed for eatimating the nverago
yicld per n'("m of rico crop in India and stats in what respoct or reepocts it is an improve.
ment over tho provious systom ! Can you suggest any improvoment over tho preeont
system ?

3. Writo short notce on:—

{i) Hurvoat price

(ii) Raiyatwari tonuro
(iii) . Ovino populution
(iv) Fodder crops.

4. Your offico bus boen providod with a typowritor. One of your clorks has
wol tho sume for forging a letter and tho polico have takon away tho samo typowritor
and kept it under their custody ponding the complotion of thoir onquiry. It was
tho only one availablo in tho offico. Your offico superintondont has hired a typo-
writor for the poriod whon the polico kopt the office typowritor undor their custody
aud Les incwred an oxpendituro.

Explain the proceduro how you will (u) deal with tho clork and (b) rogularise
tho expenditurv.

5. (1) An inspoctor compluins that ho goos out of pocket on his tours within
his epherv of duty as tho F. T. A allowed in insufficiont to covor his oxpensod. o

I 'Y ¢ of oxponditure for a particular month to show that ho had to inour
un expendituro of s, 50/- wa ayainst Rs, 30/- allowed as F. T. A.  Ho thorofore roquests
25



for an increaso in his F, T, A. from s, 30/- to Re. 50/ or Lo be allowed to draw T. A.
under tho ordinary rules. '

Explain how tho cuso should bo examinl and what arv tho facts and figures
that you would tako into account in coming to a decision in the matter.

(b) An invostigator reports to you that there was very great rush in the train
ho was travelling and ho stood on the foot-board during hia journey., Tho miaps,
schedules implementa ote., that hio was carrying with him slipped off his handa and were
thus lost. *

What action would you tuke in this matter ?

Would you proceed differontly if they wero stolen from his temporary sheltes
in a village ? . A

G. Stato at least ono publication from which you can got inforination regarding
tho following :— .

(i) Quantity and valuo of custiv sodn imported into thy port of Calcutta in
1947-48 or in any of tho earlier or subsequent years.

(ii) Index number of wholesaly prices of food articles during any one of the
months in 1032,

(iii) Outturn and averugo prico pur pound of tea reloascd to the markot by
differont tea companics during 1930 or in any ono of tho earlier or subscquent years,

(iv) Number of Bulls, Bullocks und cows in tho district of J{ooghly in Bengal
in 1939-40 or in any one of tho carlice or subscquent years.

(v) Quantity and vuluo of picco goods imported into tho port of Calcutta
in 1047-48 or in any ono of tho carlicr or sulwoquent years.

(vi) Tho arca irrigated by Governmont canals and arca under rico erop irrigated
in sl tho Mudrus states in 1942-43 or in nny ono of tho earlicr or subsoquent ycars.

7. What aro tho various registers and books of accounts that you will wsk your
subordinate officers to nuiintain so that the administration in connection with a field
survey iay bo carriedd on officiently ? Assumeo that this offico has to control a staff
of about 30 in 3 sub.divisions of a district for which it is ulso to draw and disburse pay
ate, ~

STATISTICAL FIELD SURVEY EXAMINATION, 1052,
PART I-A (PnacTicar)
Full Murks : 00
Figured in the margin indicato full murks.

1. Give the meuning of tho five symbols puinted out to you in tho C. 8. nup
andjor I, $. map andfor District nup. : (10)
.2, (a) On u C. 8. map, locuto 3 plots shown to you on thoe ground. (15)

(b) Estimate the unna proportions of tho crops and other wics of tho five

plots whose survoy numbers aro given to you, ufter identifying the plots with the help
o[ nups, and enter them in form L\-(1). {23)
Speed (10)

3. Fill up the questionmaico in fury 1-A (2) by actual enquiry in tho rural house-

bold whoeo eddress in supplicd to you, (30)
Npead (1

2



Fonx I.A (1)

District..oooivinnan PSioviiiviaens Villageoiviiieiaees Iy NOovivivennnnen

Namo of the Investigator.......c..cenisveuiuae.. Date of Sur\'o_;v..............

Anna Proportions

Serial Plot
No. No. Others
Jute Aus Aman  Fullow Ionw.
atnad  (write all the namne with
thoir corrvaponding annaa)
Nume annns
m @ (0] (o)} ® () ® (9)
.
L]
Signaturo of the Investigator..... weeesss Date..ai.., Timo of starting... ..
Timo of returning..... eriereinaias +.. Total timo taken...... erenseessuasenas

Note ;—Rocords of timo at tho foot of tho achedulo should be fillad in tho prescnce of
of tho examiner.
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Forx I.A (2)
District..ooivevenanasees PSiiciiiiiiiiaiass Village........., J.L. No........,

Union Board..... Ceaaranees
Numeo of the head of houschold (M.H.)............. eeanen
Address of the head of HH...... sessesveassaraenstnranona
Namo of Rolation Sox Age Civil Ago  Literacy Ocenpation  Honrs
members  to hoad Male-1 lust  Condition at  Unedu- _  of
of H.H. Female birth Married-1 marri. cated-0 Mujor Secon. work
-2 day Unmarricd-2 age. Delow dary per
Widowod-3 Matrie-1 day
. Divorcoed-4 Matrie-2 .
Separated-8 U.Gradu-
ato-3
Graduato-4

(U} @ @ W (5) (6) (U} 8 (9 (10

Signature of the Invutiknlor..................... .

Time of starting..... cees
Total time taken.......

Note :—(1) Record of time at tho foot of achoduls should be filled in tho presonco of
the examiners.

(2) For purpose of thia enquiry, & household ia definod as a group of individuals
who have a common kitchon and resido in tho sumo plnco. Domestio
scrvants who stay in tho I. H. should bo included ns members of 1L 1I.
Gueeta who are staying for moro than a month should bo included as mem-
bors of the H. H.” Rolatives who atay outside tho H. Il. shounld not be
included as momhors of tho H. H.
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STATISTICAL FIELD SOURVEY EXAMINATION, 1052
Part I.B (PracTiCAL)
Full marka ¢ 100
Figurea in tho margin indicate full marksa.
1. (a) Give the annawari estimatea of proportions of area undor paddy, jute
and “others™ for plot numbers I to 12 or 12 to 23 in tho map supplied to you.  (18)

(b) Give tho annawnri estimates of proportiona of arca under paddy, jute
and otheem for Blocka B and E out of blocks A, B, C, D, F, F into which the total arca

haa been split up. (12)
2, Givo an cyo estimation of the bnmhn and breadthin in feet and arca of 5 plots
of land shown to you on the ground. (15)
3. Make dircet cnquirics fron ono agricultural houschold indi ] to you and

fill up tho rchedulo supplied (Form I.B). Data relating to cost of cultivation ahould
bo obtained for at least (a) two of tho following cropa: Aus, Jute, Aman, Potato,

Sugorcone and wheat and (b) 6 plots in all, (40)
4. Viva Voco—Resourcnfulness .
Capacity to mix with peoplo cto, (15)
Foex I-B
Block T Distriet...covvveniiviriiaveianns reas Namo of head of household...... [TTT YT TSN
Y T . Rize of houschold....
Mauza (Village). Monthly expenditure.
B A L cons Land posaessed {acres)..
Household NO....vvuersnieneanns vieve  land cullivated (acres)...... sieriees POTP o
Block 1T
)'o.o{llmu uﬂ\ 0]\\‘!'!“0! was Total Total Total
8l Yo. Atea ted Lnbonrd.tyn Bullock days ln A.Dl Produe-
frop ploll M!‘l‘\‘l Tlou- Sow: Weed: Ilarvesting Home Uired Home Hired Seed Man- Inn
ghing ing ing uro  Maunds
m @ & W & o (] ® (9 0 (1 a2 a3 (W
1. L
2
.
4.
5.
13 L
2.
3.
4
6.

dgoilure of tho Invostigator..
time of recelving the schedule
Nme of returning the schedule........... N

Sole :—Tima should be filled by tho candidate In the preacace of the examiners,

. Total time taken...... cees
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STATISTICAL FIELD SURVEY EXAMINATION, 1052
Pant IC (Pracricar)
Full Marke—100
Figures in the margin indicate full marks.

L. Carry out a survey in tho market to which you are token to and nupply the
required information in formn “A™. o)

2. In tho same market supply tho rcqum-d infomation in form “B" for any one
peripatetio or squattor’s shop. (4o

3. Indoor Practical (Questionairo in a scparato typo written pnges). (30

Foryt “A"

Block 1

1. Districts.ceviivivaconnnnrnsiiaies & PS8 iiina... Cereanans Cerraaanaa.
3, Municipality or Union............. 4. Mouza (Villago)........... Cessinnies
B, J.L.NOivivieunsssanoaarosaassn . 6. Namo of Ilat or market.......
7. Wook days of sitting............... 8, Hoursof sitting

Block 11 : 9. Sollors in tho markot at ponk time..

Permanont shops " Poripatotic Shops Squatter's shops
Seria!
No.  Commodity No. of Conunodity No. of Commadity No. of
sold shopa sold ahops sold shops
(1) (2) 3 (4) (5) (6) [0}

.

Block III : 10. Estimated numbor of purchasers attending the markot at peak

period of the day....... T een
Block IV : 11. Throo commodities sold in largest quantitics on tho day ofsurvey.
Rorial No. Namo of commodity Quantity in mds.
1L
2.
3.

Explain in short how you have obtainod figures in Blocks III and IV.

Signature of tho 0xamined.........sseses. ROl Now vuivieess Datorearvnesseann
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.Foru "B"'

(To bo filled up for ons peripatotic shop of the murket)

1. District.s.eveaes veees 2. Thana............ 3. Municipality/Union..........
3. Moauza (Villago)....eoesee 8o J.L.Noweuv.uo.. 6, Namo of 1{at or markot......
7. Week days of witting...... 8. Moumof sitting......AM/PM. to....AM/PM.
9. Namo of shop keepor........... Cereerenasaens ciseernanies veeeee
10. Addreas (Villago)..oevearareennns 11. Distance®from market..........mi'od
12. Year from which ho is carrying trado..cooeiiniieiiiniiiiiniiiiineiiae e

13. Year from which ho is carrying tho prosent traddo..veceieiiiiaranas

1. Nuanics of huta or murkots attenling by ths trader and tho week duys of attending :

Sorial Name of hat or market Wouk days of attending
No. ;

(i)
(ii)
(iii)
{iv) .
(v)
15. Gooda sold and sources thercof.

Source of Approximato sales during
supply tho last 1 imonth,

-
Serial  Namcs of goods sold
No. (in order of importance)  Murket & Typo of Quantiy Valuo

Location supplice® () (Ra.)
(2) (2) 3) ) (5) (6)
1
2.
3
4
5
[]
K
8
*wholeanles, mills, factorics, grocers (.) Mention unita in which quantitics aro given.
16. Other pations of tho Bhop-Keepor....vvvuisiisieanerniiraianisaniranaas
Annunl incotmu from other occupations (Ral)...... hesesaaan hevsresenasana .
Annusl incomo from this trade (Ra.)..... cesrraenn essrensenana cerrerernas
Membors of tho funiily -.ernvevs Malowu..... Fomalo. .. .. ver Totalieeara.nn.
Adule (more than 13 years).vuoiiiiniaiaiaan, e

Children. . .ooienannn

17. Montion briefly the difficgtics encountored in colleoting the data in this form,
31



STATISTICAL FIELD SURVEY EXAMINATION, 1952
Pant II.-A (Praoricavn)
Full marks—100

1, Collect information from one of tho three familica listed bolow and fill up the
form 11A. In sclection of tho fumily, preferenco should bo seriatini. {50)
1f you had to 6ll up your schedule with inforinution collected from the

sccond or tho third fumily, stato your rensons for not boing able to fill it up with infor.
mation from No. (1) or No. (1) and No. (2) as tho caso may be. {13
Deseribo in detail tho difficultios you had to encounter in filling up the form

and your mothods of solving them. Mention the defects in tho form, it any. {23)

LisT or Famuies

Districte..oievionennea. P siaeess Villago, ..
Nearost Railway Station....v.viceiiiiniiiianiiiiianiveirisiionananns
Names of the headys of tho familivs :

2, Viva Voce on above - (10)

Foux 1IA

1. Details of Sample ¢
_Distrlct.
Mauza (Village)..

Head of the family.

1I. Detalts of famlly mecmbers who generally live in the above adiress

[ lon in Unempl
8L Beltlon Ago Sex Olarital Eduear Earner last 8 montha % Fast S most.
no 7 last  M:1  condl- . tlon®® (1)
head , birth F-2 tion® or Prin- No. See No.  Reas  Na
day Depens  clpal of ondary of sou*** o
dant Wke. Wka, Whke
m @) @ W (%) (6) n ) W 00 an  an o

¢ Married-1; Unmarried-2; Wilowed-3; Divoreed-4; Svparated-5; rerunrried-8; More (han ono wife liviag!
8¢ Uneducated-); Delow Maltlc-2; Matrice-3; Undergraduate-; Oraduate:5,
®s9, Disabled-1; Skek-2; Unwilliug-3; Want of employment-3-
Note (~0lvo roplies in codo numbers whenever (hoy nre Indientedin the wwlumn of foul note.
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1. Land owned and posscased (In acres).

IV. Cattle & Poultry posscssed (No.).

Description Acres (2 decl) Description Number
(a) (,\nlllvul.ed land 0 Bumlmﬂ
tal own b,
iu Toul Lel Out ) uulloch
2] Total d) Calves
Total in poveulo ) Shecp

(b) Land not avallable for
cuitivation and are in
posscaalon i —

1) Homestead
(i) Watee arvas
(llf) Others
{iv) Total .
(c) Cultivable wasto posscssed ...
{d) Uncultivable waste possessed

(¢) Otherw

oats

(L) Tolal Caulu

m) olhv.-r Poultry
(n) Total Poultry

Total acres In posscssion

V. Approximsle income and expenditure during 12 montha preceeding the month of enqulry,

Income (Rs.) Expenditure
8erial No. From Occupation Unit
of membet Items of Quantily  Value
o Block 11 Priucipal Sccondary  Total Qty. (Ba)
1. Rice/Wheat/
Products
2 Pulscs
8. Fish, Meat
) 4. Food—Oils
(1) Total 5. Vegutables
) Fatosienta -
(8) Bale of asscts 7. Other Food
{4) Loans taken 8. Fuc!
{5 9. Total Food
[U}] 10. Clothes & Bedding
4] 11" Furnitures, utenslls
%) 12. Cercmonles (Soclal & religlous)
Tota) 13.  Purchases of asseta
14. Repayment of loans/lnterest
15' Rents, rates, taxen
16. Litgation
12,
18,
10. Total Others
£20. QOrand Total:

Lruenes, If any. (Any inconalstencies In Block V should be speclally mentioned giving reason for such

mlm-nclu. in tho opfulon of the examineo) i—

Hguature of the oxnmlncc ves
limo of atarting. .
Yime of returning. .

Yole ;—T)me should be Biled In the presence of u:n examinera.

. Dalo.
. Total time ulnn. .
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STATISTICAL FIELD SURVEY EXAMINATION, 1962.
Part 1IB (PracTicaL)
° Time : 4 hours - Full Marks : 100
Figurce in the margin indicato full marks.

1. Write a short report giving s many comments as you find possiblo on the data
given in any two of the following:

{a) Teblo I (48)

{(b) Tablo 1I and HI (48)

{c) Table 1V and V (48)

* Neatness 4
Tanre L

Population in Mcan donsity No. of fomalos
1031 in millions  per 6q. mile por 1000 males

Bongal 50.1 646 924

India ) 252.8 195 940
Madras 18.7 . 328 1025
U.P. 48.4 450 902
Bihar & Orissn 37.8 434 1003
Bomlay 2.9 R kA : 801
Ajmer 0.5 207 R92

Assam 8.0 151 - 000
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